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Candidates should attempt any 10 (ten) questions of
GROUP—A with word limit of 250 words and should
attempt any 5 (five) questions from GROUP—B
with word limit of 300 words.

JeIBIEIFI6R GROUP—A § 606@161d @oG gga aa 980 &
F12I6Q 99° GROUP—B Q) 616@l6Id 85 g9 @
Moo 4R F1RIEQ AT QYER |

GROUP—A

1. Examine the interplay among environmental analysis, organizational

vision and the decision-making process in the context of management
functions. 15

Q564010 I69a4, AF0RR QEERIN I9° JAGIRRISe RIdY afegBIeR
A9a 928 gRAl F1-IER interplay @ A8l @9 |

. Discuss the steps involved in the environmental analysis process

and how does it contribute to effective organizational planning? 15
Je6R96e Q64I8 JRAER RGO JCAUGYLR ¥9° 2 @A RS
dIrGlORR 6JIRFIER ARIGR 29 64 YFUER 2IENISOF A |

. Examine the indicators of good governance and their practical

applications in assessing organizational performance. 15
REF FIAPR oR 19° APFI00R QI QTGIg KRR FRRIER 6AgERa N2
gegiog daidl @ |
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. Evaluate the role of Transparency International in promoting

transparency and combating corruption in organizations globally.
15

qR0I9 6919128 6991 9° @qNIgl AL QA16a TRl AR
Transparency International @ §8@Iq FAYIAR @9 |

. Compare and contrast the motivational theories of Maslow’s

hierarchy of needs and Herzberg’s two-factor theory. Provide practical
examples to illustrate the application of these theories in
organizational settings. 15

Maslow @ Hierarchy of needs {Q° Herzber @ two-factor theory @
6QGIQIAR 0 RA! Ne° QIR @412 | QC0R setting 68 I8 QYL
g62ieq 9@l FAQI IR MNILLAR AQILAE JAL @A |

. Analyze the role of communication in organizational behavior,

focusing on both barriers and gateways to effective communication.
Discuss how leaders can overcome communication challenges to
foster a positive organizational culture. 15

Jaldlm 6dIGlIedIS! QIR /WY barriers 4Q° gateway @QUeQ i@ 69
AGI0RR 2ISREER 6KISISAITR IRIQ 644 @8 | Y@ ARIAUAR A°F0R
Q°20 goaIer @PQIUIR 670IRl6R @Od 6AISIEAIN YRR PR AR AIRES
6d FVLEQ 2IERAFR I |

. What are three variables in the social cognitive approach to

leadership? How do they relate to one another? How can this
approach be applied to the practice of human resource management?

15
6909 IR AFIFY KNGO 2RFHIER F6RIT variable @7 6ACNER F66
AMNREQ P06 AR FRE? U8 AR FAR AINS AR TRSIREI AAYIAER IS
621QQIR?

. What is GLOBE project? What cultural dimensions have been

identified by the GLOBE researchers? What preliminary findings
have been found by this GLOBE research effort? 15
GLOBE g@®@ @’§? GLOBE 2QdRInIala QIQl 62Q Arq0@ 36 596 621087
@ GLOBE 2gQ9I® gaid QIal 624 glafie 29aeie Aaa?
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Discuss the role of Qualitative Techniques in decision-making under
conditions of uncertainty. Evaluate the strengths and weaknesses
of qualitative methods and provide recommendations for integrating
them into a comprehensive decision-making framework. 15

2Rde 90dt6a PIR 699I6Q Qualitative Techniques @ i@l SaU6R
26MOF @R | Qualitative methods @ QIFEY 8 QIRVI FAYILE @R 9L°
QFQ 67l QUEas JQIe @ |

Explore the elementary concepts of Binomial, Poisson and Normal
Distributions and their relevance in decision-making processes.
Provide examples of situations where each distribution is most
applicable and discuss the assumptions underlying their usage. 15

QU 99° ARG T8 GIAFR U 99° A6 g8 gRAER 6ANRTR
gIAFael QARG Pa | J6A0R AL gIIe 9a 6JR0IER J6eIe 948
2D JRY 99° 6AFIRT NILIQ QG AIQG AU6R SRR A |

A small project is composed of seven activities whose time estimates
are listed in the following table. Activities are identified by their
beginning (I) and ending (J) node numbers. 4+4+4+3=15

4R 6816 69168 Q6T QI 699 G109, AIPIA ANG KPR ¢ AANER
OnDl 99 | QIIgER 6ANRTR QA (I) 9° 689 (J) 691@ (node) QIQl
09¢ |

Activity Estimated Duration (Weeks)
I J Optimistic Most Pessimistic
Likely

1 2 1 1 7

1 3 1 4 7

1 4 2 2 8

2 5] 1 1 1

3 3 2 ) 14

4 6 2 5 8

S | 6 3 6 15

(a) Draw the project network and identify all paths through it.
Project network 2@ @9 99° 42| (RIEQ 7Y Q] 9% @9 |
(b) Find the expected duration and variance for each activity.

geoi@ QYR 28l FAUARAS AR QY IQ° QR0 QA QA |
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12.

(c) Calculate early and late occurrence times for each node. What
is the expected project length?

geeia 6x1%e. g 81 99° PR AGEl ANG 6Nl KR | 2SI YIRS
gag mf @607

(d) Calculate total slack for each activity.
g6e4Q Iy a dg) QI slack Q€I @Q |

A small maintenance project consists of the jobs in the following
table. Each job is listed with its normal time and a minimum or crash
time (in days). The cost per day crashing job is also given. 15
R 6815 QAEI6RWE Je ¢ dIRdiea G?Iﬁ%l@@ 696 610Q | g6 RILY
Q20 92Ia ARIRE AFIG 9° AR, @A crash AAG (F926Q) RIS |
6@2Q crash job @ FMY A2l QARG |

Normal Minimum Cost of
Job Duration (Crash) Crashing
I J (Days) Duration | (Rs. / Day)
(Days)
1 2 6 20
1 3 5 25
1 4 15 10 30
2 4 5 3 10
3 4 10 6 15
4 S 2 1 40
(@) What is the normal project length and the minimum project

length?
Normal project length 99° Minimum project length 6@6G7

Determine the minimum crashing costs of schedules ranging
from normal length down to and including the minimum length
of schedule, if L = length of normal schedule, then find the
costs of schedules which are L, L-1, L-2 and so on days long.

QARIRS 6364 0IQ 2I0A @5 AYRE) AIGIHN ABe QY61 4Faa ASaY)
crash 8¢ {da @Q | QI2l 6208, 9@ ARG AIFY 9o1a L= 624,
QIHIQEIR IR 68IS QIR L, L-1, L-2 99° 1R9E, @@ Al |

(b)
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13.

14,

15.

16.

(c) Overhead costs total $60 per day. What is the optimum length
schedule in terms of both crashing and overhead costs? List
the scheduled durations of each job for your solution.

Overhead cost @@ g® 6€lIS' $60 | @V QIF IL° 6R6LE. 97 28Q
Q61F 6344 991 @617 QAR AFRIIR IR 64N AITIR ARG AR
PIRRIYS 24 |

GROUP—B

What are the key differences between cost centres, profit centres
and investment centres? Provide examples of each and explain how
they contribute to overall organizational performance. 20

Cost centres, profit centres Q° investment centres FIRIER €814 el
@E? J60YRN QQILRE goIe 90 9e° ANFR APC0Re gednsa 6arlee
FUQ 2ele Q& 2121 I /9 |

Evaluate the application of modern control methods in service
organizations. Provide examples of how these methods contribute
in improving performance and maintaining control in a service-
oriented environment. 20

6QQI A°RGYLR6A URYFP F0RE I8S JELITIR RYIGR QQ | IR 629 ARG
J06966Q AIIQV0I] AL AR 99 FUad IRID QYR 1@ 98T AR
QAPIOR 29 QIPIQ AILQE AL @9 |

Discuss the conceptual issues and applications of the Value Chain
in strategic cost management. How can organizations use the Value
Chain to identify cost-saving opportunities and gain a competitive
advantage? 20

Strategic cost management 62 ¢Ja SERIQ UIAE YA IS° YEAIGYLR
SEL6R 2ERISN R | P ABG 6T TS RERI I Y@ gPeaIfel AR
QI IRl IRl LU0RYLR N el FAE MRIQ FRAIGER?

Define Activity-Based Costing (ABC) and discuss its advantages over

traditional costing methods. Provide a real-world example to

demonstrate how ABC can lead to more accurate cost allocation.
20

QIJY-2IIAe Y8 (ABC) @ QU @Q 99° IefRe ¥F 980 QU6 2R
QI FFAER ABNIGR @6 | ABC @08 2R OR A 999Q 6804109 dlel
24IQQ1q 9@ Qo 63§ @UI2ed 99Ie 99 |
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17. Evaluate the impact of globalization on the Indian business| Candidate
environment. Discuss the opportunities and challenges that| mustnot
globalization presents for business, considering both domestic and| write on
international perspectives. 20 | this margin.

QUGG 9QAIG IREE ATEA FIFIRAER RN YRR A9 | [OG VEAIR
9e° ZIeFoId 86RI6Q 01 AR MR IR PIVIRAS QVVIAR KQAS
Q6416 Ne° AIIRGPR AT6R AEAISH @R |

18. Assess the problems and prospects associated with liberalization in
the Indian business environment. How has liberalization influenced
the growth of industries, trade and investment? Provide examples
to support your analysis. 20

QIR FRE AL FPE AFQYI IY° RAVIFER AIKRR &9, UG ¥ g& FR6ITR
geIeg geide @88 @? gFe I64adg AAdR FRAIQ QLR B2 |
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